Q T 7|8 E(H01-46%)

o o5 7|7t 13 012! 2321 17A| ~ 01 249! 174
SHET A (28 7|7F 2025E 012 232 17A| ~ 012 2421 17A))

[20254 01 23 17A| 2E ]

-1k LHE Bt

Ojo

> LT|7HE

O (5) AML7A]), FAEE2 B2, EMZ0| k2 20 AIFH2 10km O| ¢ YLICEL 2523Y)2 = SFXL0| XISt 17|
o| Fek= 2ot M| = BrZSLICE

O (L) = SEXL0M SH22 0|Fots 17| ks 2ot M| = S S LT

AN

ol Z|X/x[217]2 (O ol ZXMHZG2=(0)

(e -5

Ol & Z==2H(mm)/A A (cm)
(L) -2/11

> P 7|0
O (ME[%Hd) LIL(242) M= (00~05A]) AtOjof 57| AM2|%H

0

2
T
>
==
o

ay

2 A2 O S|, PR0i| EASEAIZ] HEELICE

= It
AlZHE ZH|S o2
£ T IO 15K ojs | 20kToly | 25kToly | 30kTOMY | 2E2 ASL Goop | Mebum [ Poor
[-2% 34 249
17 18 19 20 21 2 23 00 01 02 03 04
i

SE/0E < < < < < < <

o v v
101—;1‘9, = =Z0 =20 =20 =20 3.0 =85 b 5 =Z'5 =55 b JE5|
Hrh=thS = 8057 = 8= 7 = BB 7 5,657 B BT =, 6E2 = 6482 ) =, E2 =, H1E) R ES) e
022 Za360 Zak 360 Za 360 Sa360 Za:360 Zar110 Egh110 Za0 Zg110 Zgr110 Zgh110 Zao

J%‘JST B4 EEa 47 47 57 B4 45 45 B4 B4 45 45
24y
05 06 o7 08 09 10 1 12 13

14

SE/HE < < < <

(kt)

(01-19) =z =z ==z = =z =z =z . *n\.l *n\./ *n\./ =z
P £E5 &85 555 5 £E:5 &85 555 5 &5 &5 552 58
=ie H, 2 3,632 H, 652 H,uE:2 H, W4 o, i34 o, 654 H,uE:4 H, HZ: 10 %, 81510 6510 i 10
)2 Egh110 E8110 E8110 E8110 E850 E850 E850 E850 B85350 E8350 E8350 E8:350
!Ggﬂ 245 245 245 245 246 246 246 246 Z4110 22110 22110 Z2110
X EZ/MHH|ZE L DS sk S 2t2 o
XE5S/8HES2 SSE EF=20] Cfet bt

2= o0, Bele ke (Of: ‘58 4= 50| 4kt

[He=3
O FAre
X371 A ZE0| Chot XIS A2 237 4E ZHH[0|X|(amokmagoknof A Ztolgh = QIEL|CH
X 2 Al 7| 20| THCHR}, MBS Gl FAXH S 7} HZE| Q1S (M= 2oLt 7| ALY (TEL 061-453-4365 / FAX 061-453-5365) 2
LH{FA|7] BREL|CH




